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The equation T ‘1‘I1—4(} is used to estimate the temperature in degrees

Fahrenheit, T, based on the number of cricket chirps, n, in one minute.

- : a
@ Estimate the temperature when thare are no chirps "1‘0 r—

=

2. (b)Estimate the temperature when the number of chirps in one
minute is 100. lflob) +4o0=
3. (€)Interpret the slope and T-intercept of the equation.
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Parallel Lines
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Perpendicular Lines
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Use slopes and y-intercepts to determine if the lines 3x — 2y = 6
andy = %x + 1 are parallel?

-2
m=3x

Pucalle]

Use slopes and y-intercepts to determine if the lines 2x + 5y =5

andy = — gf; 4 are parallel? M™M= '_;
n= 5 F{f\ﬂ-“bl
|
Use slopes and y-intercepts to determine if the lines y = — 2'—;\: —1
and 3x — 2y = 6 are parallel? -1
=3
m= =1 No‘b Pnru”a-l

N

Use the slopes to determine if the lines, y = —5x — 4 and
x — 5y = 5 are perpendicular. Mm=-5

m= & _‘—

Use the slopes to determine if the lines, y = —3x + 2 and
x + 3y = 4 are perpendicular. m=-Y

we¥ |

-
m= 3

Use the slopes to determine if the lines, y = 2x — 5 and
x + 2y = —6 are perpendicular.
d m= 4
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Equation of a line
y=mx+b

Equation of a line given 2
points and a slope

Point-Slope Form

What you will learn about:
Writing the Equation of a Line

Find an equation of a line with slope -1 and y-intercept (0, -3)
m=- b=-3

V= - %-3

Find the equation of the line shown.
y
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(;p 3] Write the equation in slope-lntercept form.

" . ; 2 y x
Find an equation of a line with slopem = = that contains the point

Y-y =m(x—x) pt- 5""1"" Slope-Tnte Y:mﬁlb
- X (x-16 2, = =(H¥b
“'\:-519]": \/ 5= 5' ) \/-.'.-. -;;.,-7( | 35
y-3= Sx Yy 5=4Y4p
¥y Y) = G s o3|
g le:l an equatlnn of a line with slopem = = that contains the point
(6, 3). Write the equation in slope- |ntercept forms_'
5— =
y..} = ?"CX"G) > ls {('}-}b
2=53b
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HOW TO

Find an equation of a line given the slope and a point.

Step 1. Identify the slope.

Step 2. Identify the point.

Step 3. Substitute the values into the point-siope form, v — ¥ = m(x —x ).
Step 4. Write the equation in slope-intarcept form

Find an equation of a line with slope m = —ithat contains the point
(6, -4). Write the equation in slope-intercept form.

o R A

y,eq = "'%SX + o

Find an equation of a line with slopem = —%that contains the point
(10, -5). Write the equation in slope-intercept form.
-
+8= "= (x -10) 2
Y s(x - \ =g %l
. Y

\457= X+ Y

M=o Find the equation of a horizontal line that contains the point (-1, 2).
Write the equation in slope-intercept form.

Y-2 =00
Y—— 2=0 y =70
Find the equation of a horizontal line that contains the point (-3, 8).
M =0 | Write the equation in slope-intercept form.

\/-._3:0{)(-1"53
Y-¢=0 Y=

Find an equation of a line that contains the points (5, 4) and (3, 6).
Write the equation in slope intercept form.
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